[bookmark: _GoBack]Maths - To solve money problems

Use the squared paper to solve these problems on.

1. £10.00 - £5.32
2. £10.00 - £1.52
3. £10.00 - £3.18
4. £10.00 - £1.08
5. £10.00 - £8.78
6. £10.00 - £2.10
7. £10.00 - £1.12
8. £10.00 - £8.84

Challenge questions
1) Dexter buys a CD for £2.50, a t-shirt for £5, a toy for £4.50 and a bag of sweets for 99p. He has £15.00 to spend. Using the method with have practiced today, find out how much change he will get.
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Aclass has £100 to spend on books. | Chidren may Here is Dora's receipt.
explore this
systematically eg. = =
Book Prices Bx12=96 S
Sandwich

(12 hardbacks) o
Hardback = £8 4x1=4 Orange juice

Paperback = £4

Crsps

(1 paperback) etc.
Or they may start
How many books could they buy for with paperback Banana
£100? 4% 25 =100 ToTAL
How many different ways can this be (25 paperbacks)
done? etc

Crisps Borars
ToTAL

Use the information to complete the
Dexter buys a teddy bear for £6.00,a Total = £18 receipt:
board game for £4.00, a CD for £550 18-10=8 +  The sandwich costs £2.15 more than
and a box of chocolates for £250 lig=9 the crisps.
He has some discount vouchers. ?s _9=9 The orange juice is the same price as
He can either get £10.00 off or pay half the crisps and banana together.
price for his items. Which voucher would | oo The banana is half the price of the

save him more? crisps.
Baplainyour thinking. would save more.
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